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Question Number : 1 Question Id : 3354728131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The holy river that is the site for the Simhastha Kumb Mela | 7g 0fdF 74 = Hgaer 9 061 &7 990 §

Options:

1. ® MNarmada | THaT
2. % Sindu | &g

=, ¥ Shipra | TamT

4. % Ganga | T

Question Number : 2 Question Id : 3354728132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MName the national park which was created in the year 1936 to be India’s first National Park. | 39 TEE 32 @7
A AT 1936 B AN W AT TP F2ITT &= o T a=Tm 77 om

Options:
1. ¥ Corbett | e

2. % gilent Valley | WEdiz el

3. % Bandipur | FEqC
4 # Pirotan | TRET

Question Number : 3 Question Id : 3354728133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is present in the stomach? | FaiwRET & & 727 s § auiesT 27
Options:

1. ¥ Sperm | S0

2. % Dandruff | &4

3. % Gastric juice | Fa€ T

4. % Optic nerve | Tte® 7 =®T

Question Number : 4 Question Id : 3354728134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Eharatiyva Jarnata Farty carne into existence in ________.
Options:

1. # January, 1980 | S92l 1980

2. % February, 1967 | ®tair 1967

= % March, 1967 | A= 1967

4. % April, 1980 | aMa 1980

Question Number : 5 Question Id : 3354728135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“World Refugee Day’ is celebrated on ______________ of every vear. | ‘o swomed feaer weder and
I AT AT

Options:

1. % 20th June | 205
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2. % 21st June [ 21 94
3 % 22nd June [ 22 54
4 % 23rd June | 2354

Question Number : 6 Question Id : 3354728136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The ?ﬁe to exercise franchise was reduced from 21 vearsto 18 vears by ________ N T AT &7 W=7
TS HT A 21 79 T L8 Y JF FH &I T

Options:

1. % 42nd Amendment | 4287 =
2. % 44th Amendment | 4437 FareT
= ¥ Slst Amendment | § 13T T
4. % 7ond Amendment | 72T AT

Question Number : 7 Question Id : 3354728137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

GDF at constant (2011-12) prices in ©1 of 2017-18 showed a growth rate of ______
171 2017-18 F Q1 # R (2011-12) Hd # AR S o7 2016-17 F Q1 H ga-T &

Options:

1. ¥ 6.3%
= % 5oy
3 % 49%

4. ¥ 57%

compared to Q1 of 2016-
______ w1 ghy ax fqamt m

Question Number : 8 Question Id : 3354728138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following states are elections to the State Legislative Assermnbly NOT due to be held in 20187 |

T teat #f & fe T [Same @ g 2018 # 951 i
Options:

1. ® Karnataka | Tic®H

2. % Jharkhand | REE

% % Nagaland | ATTRE
4 % Tripura | By

Question Number : 9 Question Id : 3354728139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who amorng the following is more popularly known as ‘Loknayal'? | FaRET § 9 &9 'Alemas & 910 & afdw

Options:

1. # Jawaharlal Nehru | JETEteld 158

= % Javaprakash MNaravyan | ST ST
% % B.C. Roy [ #1LH 1T

4. ¥ Ram Manchar Lohia | 717 AFIEE dllgaT

Question Number : 10 Question Id : 3354728140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
What is meant by “Yellow Revolution’ in India? | W ® "OieT @i &7 F97 37004 57

Options:

1. ® Increase in milk production | 3 Jeae # Fkg

2. ® Increase in agricultural production | F8 Je0e H The

%, ¥ Increase in edible cil seed production | T 36 & & Joied H Tk

4. ® Increase in petroleumn production | UZiTe=A Je0e" H Tk

Question Number : 11 Question Id : 3354728141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Indradhanush 2.0is ___________ EEEE 208 ________
Options:
1. % an Indian satellite launched for learning climatic changes | Seemg Tidd = @rg- @ oy maiue famm mar o

2 % a flagship financial inclusion scherme of the Union governmment | 3¢ ACHR & 0% TE o= a@mert e

2. % 3 software developed for studying techniques of rain inducing | =TT IR0 &7 TE-TF] FT STeTTT FA & 6T
T e T T g AT

4 ¥ a cornprehensive plan for recapitalization of Public Sector Banks | ®TE-® &7 @t & I T=w0 & w0 0F
T T

Question Number : 12 Question Id : 3354728142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sant Kabir Nagar and Sant Ravidas Nagar are Districts in which State of India? | 9T & e wdar & ®eiie A
g 99 Uda e I e 87

Options:

1. ¥ Madhya Pradesh | Hea 0

= % Uttar Pradesh | Z9¢ U&ar

3. % Arunachal Pradesh | S0 09

4. % Rajasthan | T

Question Number : 13 Question Id : 3354728143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Malwa Utsay 2017 was held in | AT Jo|e 2017

Options:

1. % Indore | 32

2. % Bhopal | #UT&A
% % Khandwa | g=ar

4 % Khajuraho | R1ET

Question Number : 14 Question Id : 3354728144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who constructed the Jarma Masjid situated at Shajapur? | ST # T STAT Al #T T war ar?

Options:
1. % Haidar Ali | 53¢ 3T
2. % Shaugat Ali | o a&T
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3. % Muhammad Ali | GEHS e
4 % Mawab Ali | FaTe a6

Question Number : 15 Question Id : 3354728145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Devi shilya Archasclogical Museum is situated at ______ | St srfgwaT Qe \Uge ______ H T 21

Options:

1. % Maheshwar | Az

2. % Ehopal | 4T

2 #® Khandwa | 9247

4. % Omkareshwar | AT

Question Number : 16 Question Id : 3354728146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ¢ld Madarsa, built in 15th century, near Chanderi is known as _____ IS O 1S of "o # T e
HeeaT el _______ & ET Y AT AET 5]
Options:

1. % Ujar | 3%

2 % Aron | TR

= % Khilji | FE&=T

4 % Babur Madarsa | =Ta¥ BZodr

Question Number : 17 Question Id : 3354728147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a prominent tribe of Alirajpur? | T98 9 F19 91 e/ =0T &1 0% TE T 57

Options:
1. % Khasis | 9mdr

=+ Bhilala | &

3. % Korku | #g
4. ® Birjia | Teeirm

Question Number : 18 Question Id : 3354728148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which was the first satellite to be placed in orbit by an Indian-made launch vehicle, SLYV-37 | ¥°T H d= &
TRIT WU aTeH, A -5 ZRT TaT H TG AT 2T U] JUTg H1 €T 277

Options:
1. % Rohini | ﬁ'%ﬂﬁ

2 % Bhaskara | ATEHT

3. % Aryabhata | s
4 % Trishul | Be@

Question Number : 19 Question Id : 3354728149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Immediately after Indian independence, Alirajpur became part of the state of ________ | TR T T T W
ATe, SN o Tl T TEEdT o T
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Options:
1. % Madhya Bharat | A& AT
2 % vindhya Pradesh | @ yra
Z. % Ehopal | ST
4, % PNone of the above | 590 § F1E 51

Question Number : 20 Question Id : 3354728150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was the ‘Hindi Granth Academy’ in Ehopal established? | AT § 'Tewa ! T2 SRTSHT & CT0AT o o1 17207 217

Options:

1. % 1956

2 ¥ 19639

3. % 1959

4. % 1961

Zeneral Maths and General Aptitude

Section Id : 335472269
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472269
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354728151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The area of each of the 4 shaped congruent parts within the square s 3/16 of the square. The
square has a side of 100 am. The side of the mner squareis . /@@l & 3iceid 4

AT HAlCTHA SN T Gl o &iAhe @9l @1 3/16 | @91 @ sfl 100 WA B
safE ot @ e 2

Options:
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75 |
S0 HH
60 HHT
35wt

1. % 75cm |
2 ¥ 50cm |
3. % B0cm |
4 % 35cm |

Question Number : 22 Question Id : 3354728152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Paul can type 30 words in a minute. How many words can he type in 10.5 minutes? | Od 0 892 § 30 e 25T
T TaT 5 10.5 e o a5 g see o150 & @47 57

Options:
1.9 3215

2. % 316
3. % 320
4. % 205

Question Number : 23 Question Id : 3354728153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ifx2- 6+ 25 =0, then the value of (x — 31is JARE R -+ 25=0,a (x—3PH &AW
d

Options:

1. % 25

= %15

3.9 -16

4. % -3

Question Number : 24 Question Id : 3354728154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of the 7 numbers 23, 223, 423, 623, 823, 1023, and 1223 is; | 7 @wgreif 23, 223, 423, 623, 823,
1023, 3T 1223 @7 ofE|T &

Options:
1. % 723

2. % 923
3. % 523
4. ¥ 523

Question Number : 25 Question Id : 3354728155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Each side of the square 1s trisected at the marked points. What 15 the ratio of the area ofthe inner

smaller square to the outer larger square? /@1 T Yoleh §[oT 3o el W FeTioia
&1 ST §1 NS FEH T F T Ut aef & SR ¥ ETIT #4782

Options:
1. % 2
=2 %1
3 % g
4 ¥ 5

R

Question Number : 26 Question Id : 3354728156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the area of a rhombus if its diagonals are 22 cm and 18 cri? | 0% SHTy 1 30 FoT g I 360
et 22 ST 3T 18 96T 87

Options:

1. 198 5q cm | 198 a7f gdT
2. % 125sqcom | 128 a7 947
3. % 324 sqcom | 324 9 FH
4 % 11sgcm | 11 =07 &AT

Question Number : 27 Question Id : 3354728157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If x=3, then what is (x+1/%)2? / T x=3, A (x+1/x)> FATEIo?
Options:
1. % 1=
2 ¥ 100/9
3 ® 23
4 % 9710

Question Number : 28 Question Id : 3354728158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | &g e
79, 60, 20 49, 12

Options:
1. % 34
2. ¥ 44
3 % 54
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4. % g4

Question Number : 29 Question Id : 3354728159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the value of x* +13x* —22x—8 whenx=3? /S@x =3, x* +13x" -22x-8 &
T 4T GIem?

Options:
1. % g0

2. ¥ 70
2% B0
4. % 90

Question Number : 30 Question Id : 3354728160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the decimal representation of 1137, the 201 7th position is | 11/37 & gamag eqm §, 20174 Fafd w

Options:
1. % 7
% 9
A
4. % plone of the above | Iud® # & HIE 751

Question Number : 31 Question Id : 3354728161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The respective ratio of the dg2s of & and B is 2:2 now. Five vears later it will be 204, What 15 the surn of the

ages of & and B now? | e A ST E & AT & Galed S0 2: 3 81 Uid a9 BT 95 5: 4 5 et A4 3B &7 g 37
Q%WW%?

Options:
1. %5
2. % 10
3. % 15
4 ¥ 25

Question Number : 32 Question Id : 3354728162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At can complete d _jOb in 12 hours and Eala in 18 hours. At starts the _jOb and after 4 houars BalggliﬂS. In
how rmany hours will the job be completed from start to finish? | ST U #1112 ¢ # ST = 18 ot # qof ¢
qeFAT 21 a%ﬁﬁlﬂ?ffﬂ T AT & A 4 TS & W AT JHET GE AT & ST 51 A & 3T 7@ T wet | oy @l qu g1
AT

Options:

1. ® ghours | §°U¢

2 % 8Shours [ 85O0

3. ¥ 88 hours | 8.8 98

4 % 95 hours [ 9.5 O
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Question Number : 33 Question Id : 3354728163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& student atternpted 20 questions out of 25 questions. Each correct answer gets 4 marks and for each wrong
answer 2 rarks are deducted, The student scores S0 marks. How ITIa1y did he answer correct? | Wﬁ@'ﬂ?ﬁﬁ

oS qat # & 20 W e @ A 200 Uedeh 951 300 © 4 37 NI 519 & 1T e Mo 3o UF 2 3 @ed o) leaireil 4 50 37
e TP I Tera= 3o JR 1 f2ue

Options:
1. % 10
2. % 12
2% 14
4 ¥ 15

Question Number : 34 Question Id : 3354728164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A die is thrown once ‘What is the probability of getting a 77 | U UTE &7 UF 1€ hepT TN 7 WTH F- ST T T

Options:
1.¥0
2 %1
3% 1/6
4 % 1/3

Question Number : 35 Question Id : 3354728165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& merchant offers 20% off the sale price. He later offers a further 20% off the new price. What is the discount

over the original sale price? | U@ RN 0w d Hra 0¥ 30% B gT WS BT 51 @1g § 0 77 §r9 T H1 20% $1 e meH
FAT g W TH o Iy o7 Tt g 27 G ® e ®

Options:

1.9 44%
2. % 50%
2 % LCEX

4. ® £50%

Question Number : 36 Question Id : 3354728166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a trader marks his go0ds S50% above the cost price and gives a discourit of 20%, then his fain percent is: |

e U ATART 210 el @ Gedl 1 ad Brd | S0% SIT8 afferd #edT & Ud S9u 30% & g2 4T 5, 97 JHET AR Nia 99 8.
Options:
1.¥5

2 % 10
z % 3
4. % 4

Question Number : 37 Question Id : 3354728167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The surn of two nurmbers is 528 and H.CF. is 33. The number of pairs of such numbers is: | Sf @&amsi &1 70T
S28 § Ud Ty duacd 33 71 UHT dwarsrt @ gt & e

Options:
1.%1
2. % 2
3% 3
4. ¥ 4

Question Number : 38 Question Id : 3354728168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the degree of the polynomial 5x* + 4x? + 7x+3? ;’EETR{ S +4x? + 7x+ 35T FIfe
T 87

Options:

1. %5

2. % 4

3 ¥ 3

4 % 2

Question Number : 39 Question Id : 3354728169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The least nurnber which is a perfect square and also divisible by 4, 5, 6 and 9 is: | &5 ~AdH G471 0o 007 71 §
Td 4,5, 60d 9 d awa a4 g

Options:

1. % 225

ZoW 270

3. % 900

4 % 1080

Question Number : 40 Question Id : 3354728170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many prime nurmbers are there in between 100 and 2007 | 100 & 200 3 & aaT aMeg GEa1d 57

Options:

1. % 20

2 92l

3 % 23

4. % 19

CGeneral Hirndi

Section Id : 335472270
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472270
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354728171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
arefer aregl o aiiee &

Options:
1. % TF
= %31
3 % d
4 v g

Question Number : 42 Question Id : 3354728172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
enfidr g 2
Options:

1. % 29

2. % goam

z % o

4 " fadat

Question Number : 43 Question Id : 3354728173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TIT e B~
Options:

1.9 &er

2. ® AT

3. % d=f

4. % J@H

Question Number : 44 Question Id : 3354728174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
i o7 ek £
Options:

1. ® wHEmrT

2. % FEAET

Z. % Fider

4 & =TT
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Question Number : 45 Question Id : 3354728175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
-2 FEEe & -
Options:

1. % Rufeweis gm
2 ® gafggm

3. ¢ awlp-Teds gw
4 % grdemrdi

Question Number : 46 Question Id : 3354728176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT @ THiaaE " w e w4 g

Options:

1. & St
2. % Feg
3. % JZw
4. % o

Question Number : 47 Question Id : 3354728177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘I T JUTHE @ Tord U Jeg Mg B d R AT R

Options:
1. ¥ o
2 % gk
3 % @
4 % I

Question Number : 48 Question Id : 3354728178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Hord HTE edg Mg d & @ @187
Options:

1.9 W+ 2

2. % M+

3. ® gEt+Ear

4 % OE+3S

Question Number : 49 Question Id : 3354728179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tl FEAT deg A H A FA AT E?
Options:
1. % gt
2  Tede
3 % wamft
4. ® T
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Question Number : 50 Question Id : 3354728180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T et & T e T H A @ 2
Options:

1. % fer

2 ® Tt

3. TemoEr

4 % g9

Question Number : 51 Question Id : 3354728181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘el =g § 99 # & 19 97w 87
Options:

1. Ty aue

2 ® s 9uTe

3. ® Joyey gAY

4. % ity gug

Question Number : 52 Question Id : 3354728182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
it Ot AT ggTew w7 anf M A A AT ey

Options:

1. & SPTET ®T

= ® TS SEAT weAT

3. % T70tar i T A AT
4. % TIOTT AT T AT AT

Question Number : 53 Question Id : 3354728183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘AT AN T I &0 -9 H § BT ATE?
Options:

| % agEE

2. % gEREiEmT

=, o Fgwicant

4, ® gEWIIEr

Question Number : 54 Question Id : 3354728184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
axfter <fter 3 01 3w, SRt i e g
el & Tl W, ST, degelt, i, e
T Ul # g A g @t e 27

Options:

1. ® gwdeg T
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= ¥ SgE
3 % R
4 % giTTg

Question Number : 55 Question Id : 3354728185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Fie A o Qg
ﬁﬂﬂ?@ﬂmﬁ a1 Ty gie?

Options:

Question Number : 56 Question Id : 3354728186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

5T, TG, T A% T 57 Mg o PHST F51 o alell Ui &1 o= -
Options:

1. % Fegelt, T, TR, FATSRT

2. % FIITT, AT TR, AT-gal

3. FEIT, TR, ST, A

4, ¥ TITH, AATIE, ATgal, TEAT

Question Number : 57 Question Id : 3354728187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

a8 & g I Fr gy -

Options:

1. % OgETcHT TR T ST TET AT TR
2. % 3ITATIT TRTIT HETCHT TITefT &7 247 a2
% % TETIT 8T W7 HETHT TR T ST
4. ¥ Za1 AT AETCHT TITET T STTeT TR

Question Number : 58 Question Id : 3354728188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:

1. v qg+ 8%

e e i

3 % Ha= + 91

4 ® g9+ 98

Question Number : 59 Question Id : 3354728189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Tomer # & 1 | awe Fireler s e 2 -
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Options:

1. % TepaTT-hie
o ® TeA-TH
3. FEr-Hiar
4 % gU-ad
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Question Number : 60 Question Id : 3354728190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Yy T | & T S0 T I8 57
Options:

1. % gz gy

2 % FUFT @A

2. % iy gu

4, & FHATT GEE

Fural Econorry and Panchavati Eaj

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:

Question Shuffling Allowed :

335472271
4

Online
Mandatory
20

20

20

Yes

No

1
335472271
Yes

Question Number : 61 Question Id : 3354728191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Krishonnati Yojana 15 an umbrella scheme which DOES NOT include

e

Options:

_________ | T T AT U gL AT g

1. ® National Food Security Mission | T8 ST GU4T W

2. % National Mission for Sustainable Agriculture | #3d FH % &7 TP Haq

3. # Mission for Integrated Developrment of Horticulture | SN @ @A e @ o e
4. % MNational Commission on Farmers | TR o8 T8 i

Question Number : 62 Question Id : 3354728192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S0il Health Card scherme was originall a};%roved for implementation during the

SR FTTire & o] Oea:
Options:
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1. % ¥II Flan | XII Ir==T

2. % Y Plan | ¥ 4T

3. % ¥I Plan | ¥l T

4 % None of the above | Iug® a4t

Question Number : 63 Question Id : 3354728193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India's first government-owned television channel dedicated to farmers is

AT TATTHCT ITAT St tiahaT o et E

Options:

1. ® India TV | SiZam T
2. ¥ DD Kisan | &1 e
3. % Green TV | T &1AT

4, % Chopal TV | @& T

Question Number : 64 Question Id : 3354728194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following states was the Crops Diversification Prograrmme NOT implernented? | Fafaies # 9
TR TTl H el el eref e e oy oI 51 T 2m?

Options:
1. % Punjab | 7=

2. % Harvana | gitamm

3. % Uttar Pradesh | 397 W&
4 ¥ Kerala | o@e

Question Number : 65 Question Id : 3354728195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MNational Livestock Mission was launched in | T T Hee

Options:

1. % Z001-02
2. ® 2015-16
3. ¥ 2014-15

4. % 2002-03

Question Number : 66 Question Id : 3354728196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Sl;hEdLﬂEd area under PElHChEl‘j.TEltil Eaj mEHHS a place WhEI‘f! II'ﬂEl_jDI'it‘}.? residents are from ______. | qama“r TIGT%
ST ST & 7 3 ag T g T aﬂa% ______ T HATIT 71
Options:

1. ® scheduled Castes | SFRHREE ANGAl

o Minority Corrrmuanities | ATFTEETE Hﬂmtﬁ
3. ¢ Scheduled Tribes | SERT F=TGat

4, ¥ Other Backward Castes | &= g2 i

28th Dec 17 Shift 1



28th Dec 17 Shift 1

Question Number : 67 Question Id : 3354728197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

what is the total number of Zilla Panchayats in Madhya Pradesh as on MNov. 20177 | e 2017 d% 72 0ed §
e T UITrT | T T T 27

Options:
1. % 29
2 % 37
I % 48
4 ¥ 51

Question Number : 68 Question Id : 3354728198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘Soil to Silk’ i5 a programume by which organisation of Madhya Pradesh government? | "Hied § Red 72 7T
T & ToFe G1a o FIwH &1 ATH 57

Options:

1. ¢ Directorate of Sericulture | Y9 Je01eT Haamag

2 % Central Silk Board | S (aA @2

3. % Directorate of Cottage Industries | e IEIm Hoamaa
4. % 5ilk Marketing Federation | ¥&W 2w &

Question Number : 69 Question Id : 3354728199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The primary objective of ‘More crop per drop’ mission is: | ‘AR @ W 10 e @7 wmeriie SEae F37 57
Options:

1. ¥ Conservation of drinking water | U=Fe FT G

2. % Setting up big irrigation projects | 921 =TS gi=mTat T FemT

3. % Dryland farming | g5 9 07 ST ®A1

4 Conservation of water used for agriculture | T % 007 TEd 51 a7 6 HT AL

Question Number : 70 Question Id : 3354728200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
India is set to produce MT of food grains in 2017-2018 crop vear, according to Union Ministry of

Agriculture. | T HATT & ST, 9T Bae A 2017-18 % ___ i = Wrerg FeeT w3 o 3R A

Options:

1. # 285
2 ¥ 273
3. % 252
4 % 250

Question Number : 71 Question Id : 3354728201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

National Developrment Council was constituted in___. | =997 Sdd0He @306 (T8 4 @ Oee) &1 _______ #
EERIRIEIE

Options:

1. ¥ 1945
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2. % 1948
3. ¥ 1952
4. % 1985

Question Number : 72 Question Id : 3354728202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Madhya Pradesh P'ElﬂChlEl‘j.?Elt &t 1981 was ElI'ﬂ:EﬂdEd in 1988 to provide reservation for o 11 Grarm
Panchavats. | A WS T=IMd U, 1981 ®I A m=Eai ® MY 2 & T 1988 § Harte forgm m
Options:

1. # physically handicapped | s &7 & &

2 ¥ 5Cs, 5Ts and Wornen | SER ST, SR S al 72 afgarat
= % Farmers | et

4. % Minorities | SFEIHETH!

Question Number : 73 Question Id : 3354728203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Madhva Pradesh Janpad Panchavat (mposition of Development Tax on Agriculture Land) Rules, was notified
in the Gazette and came into force in | W Ul ST, W (e i oF ey 6 @ srtem foem, oo o

[ERIRIE R L # BT T TrAT <
Options:

1. % 19586

Z % 1975

3.9 2000

4. % 2014

Question Number : 74 Question Id : 3354728204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I—Iow IT1A11 vs of guaranteed ermployment will be given in a financial year under the MGNEEGA? | AT 3
él?ﬁﬂ e am TTTE e e
Options:

1. % Mo limnit | 18 AT 8T
2. % 200 days | 200 faT
% % 365 days | 365 e
4 ¢ 100 davys [ 100 faT

Question Number : 75 Question Id : 3354728205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How much money is given as grant per traines per trammg %E?gramme by Madhvya Pradesh government for

training in fisheries? | W2¥ T8 ATET ZRT AT OTA- H 04 Weteh WTg w1 SFfa ™ & &0 § Tera=1r & faam <fmar 37
Options:

1. % Rz 1000 | 1000 07

= ¥ Rs 1250 | 1250 &7

3. % Rs 1500} 1500 &0

4. % Rs 1750} 1750 &0
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Question Number : 76 Question Id : 3354728206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of ‘Nandi Shala Yojana'? | Fel ATAT TFAT & FIT I59T 57

Options:
1. ¥ Using bulls of superior genetic potential for breeding of improved desi breeds | dgat Sl Teal o [ o

ToIT S5 aT ST ST & s 1 SHa FAT

2. % Buying good breeds from other states | oFdd (A1 & SR T6a GigAT

3. % Providing free bulls to farmers | ToFaET #1175 g7 ofe Tg= 1

4 % Selling good breeds of bulls in open market | EHT T6 G760 o6l B Gol SR H s==T

Question Number : 77 Question Id : 3354728207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The objective of setting up Special Agriculture Zone is to provide: | TUTIH THigeat A (26T F &) F1 w2 @7
Te g T SUASHAT Gl FAT R -

Options:

1. % Irrigation facilities to farmers in rural areas | T 831 | framt w1 o gicems

2. % Seeds to farmers in sermi-urban areas | Shg-a56 431 # et @t &

3. # Fertilizers to farmers doing organic farming | ATe® E4T T a6 TFaE! &1 e

4. ¥ Greater technological and logistics support to farmers | T &1 5T TS T2 aTHie aga

Question Number : 78 Question Id : 3354728208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which article of Indian Constitution does relate to Fanchayati Raj? | WKd 4 Qe &7 @1+ €7 siqras T=ad | O &

Options:
1. % 74
o %126
3 ¥ 243
4 % 324

Question Number : 79 Question Id : 3354728209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The objecg%e of Pradhan Mantri Grarmin Digital Sakshrta Abhivan is to
T IR

Options:

1. ® Teaching entire rural population to read and write | QLT WA TaTg F 057 X TorRg=T Rrgem

2. % Making rural people to teach their children | THIT @ & I ag)l & TaiaT s o g ofe s
% % Teaching the illiterate rural people to add up digits | WA 7878 7 BT /@ FI=47 TEEmT

4. ¥ Making people in rural areas also digitally literate | THT g2 & @ @ Eeea &1 & 8T aamr

Question Number : 80 Question Id : 3354728210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to a recent ICRIER report Madhya Pradesh's wheat production increased from 6 million tonnes in

2005-06to ______ million tonnes in 2014-15. | T gTicT STEATATCTEESTT WOTE o G Tlerm FE 0aa H g &7 JouresT
T4 2005-06 HB0 AR e A dgat 2014-15 # Gl RARIE |

Options:
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1. % 231

z % 98

3% 151

4 % 171

Cormputer Knowledge

Section Id : 335472272
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472272
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_________ is a network device to prevent unauthorized access to or from the internal network, | _________T&

SJearh TeaTed & S Seveien Sead T ST U e et 2
Options:

1. % LAN | &9

2. % MAMN | BT

3. * Cross Cormpiler | %19 FHATEAT

4. % Firewall | BT

Question Number : 82 Question Id : 3354728212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_________ TTEEEe e & Wy Uw dgae TS 2l

_________ is a text editor for Microsoft windows. |
Options:

1. ¥ Motepad | AiRdE

2 % SrartArt | GETCHTE

3. % MS PPT | QWOH Hidier

4 % M5 Excel | THIE T

Question Number : 83 Question Id : 3354728213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
5] reference model contains _________ nurnber of layers. | ST THEH HISA | Tt S SEAT AT

WA

Options:
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1. % 4
2 %5
3 % g
4 &7

Question Number : 84 Question Id : 3354728214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ATM stands for: | TE0H &7 q0f &7

Options:

l.p ¥ Asynchronous Transfer Mode | TR@E ZE6 AE

2. % Agymmetric Transfer Method | TRHREE TEwT B9

3. % Asynchronous Transfer Method | UTE@IE TTEE AU
4, % agynchronous Telegram Mode | U@ SETTH ATE

Question Number : 85 Question Id : 3354728215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
& Windows O5 compornent that allows users to change basic systern settings, install or uninstall software and

hardwareiscalled___________ | T TEET S0 e AT IO sl e d AT, Giedo A7 g8 0 W sHeTd AT
SRR aﬂﬁfﬁaﬂﬂﬁiﬂ%fﬁ‘r _________ T ST 2]
Options:

1. ® Task Bar | TTq% a1

2. % Navigation Pane | Sfemee &9
= ¢ Control Panel | #2id 89

4 % Task Manager | TTH #-91

Question Number : 86 Question Id : 3354728216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Formulas in Excel are made up of ; | TFaa § ST FRT S a9 51T 8

Options:

1. #® Only arithmetic operators | #ad SEiHfE® ATy

2. % Only functions | Fdd HEad

3. % Cnly symbols | #ad e

4 ¥ Arithrmetical operators and functions | RO T 0 Sy

Question Number : 87 Question Id : 3354728217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to mark a word bold in MS Word? | UAUHE 92 H % Jag ®1 9IS F & o1 T Jeme
AT T I T AT 27

Options:
1. ¥ CTEL + G

o % CTEL+E
3 % CTEL +C
4 ¥ CTEL+E
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Question Number : 88 Question Id : 3354728218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Moving from one website to another is called

Options:

1. ¥ Dowmloading | STaAaMST
2. % Uploading | S&AMET

=, ¥ Browsing | @T3fe1T

4. % Refreshing | fopfdm

Question Number : 89 Question Id : 3354728219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a computer, most of the processing takes place in | I R |, STTERS AT HEMET R

Options:
1. % paM

= % Motherboard | FEtdle

3. ¥ CPU | |

4. % Memory | HANT

Question Number : 90 Question Id : 3354728220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a type of page margin in M3 Word 20077 | TAUE 92 2007 # g & § Fa7 U@ Taw
U HIT A5 1 57

Options:

1. % Left | 7oz
2. % Right | T8¢
2. ¥ Center | ®o¥
4 % Top | 0

Question Number : 91 Question Id : 3354728221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Bold, italic, and regular are known as: | 96, 5o icd 10 6T & 0T & &0 8 47 a7 2

Options:

1. ¥ Font styles [ i TTI5d
2 % Font effects | -z shde
3 % Wordart | 92 A

4 % Teut effects | IFqT 3HFC

Question Number : 92 Question Id : 3354728222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The wide page layout is knowr as

Options:
1. ¥ Frame | e

2. % Portrait | Uiz
3. ¥ Landscape | seq@d
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4. % window | 2T

Question Number : 93 Question Id : 3354728223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following application is used for making resurne? | W@ s=1 % oI 97 8 & fore Ueiiera @7
JUIT TeFT AT 57

Options:

1. % MS Excel | TAUS UFad
2. ¥ MS Word | TRUT 98
3 % DevC|3TC

4 % Java | ATET

Question Number : 94 Question Id : 3354728224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Javaisa

Options:

1. ® Machine language | A& &=

2 % Assermbly language | SRTEAT AT
3. % Low level language | &1 #ide oiiler
4. ¥ High level language | 518 wad o1

Question Number : 95 Question Id : 3354728225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is an internal memory? | AT § & F149 9 0% set-10 BANT 57

Options:

1. % CD | HiET

2. % Peni Drive | U9 S5
z ¥ RAM | ¥

4. % DVD | SiEET

Question Number : 96 Question Id : 3354728226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which keyboard shortcut is used to apply the right alignment in MS Word? | THUH 92 H, Tg1 TAGTHT &1 #7] F-1
o ToiT Tore ShiaTE ATddre o JUANT ToraT 99T 57

Options:

1. % Ctrl+L
= % Ctrl+E
3. % Ctrol+M
4. ¥ Ctrl+R

Question Number : 97 Question Id : 3354728227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& desktop cormputer is also known as: | SHFEST FHILET HE T & df SH7 a7 &

Options:
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1. % Palm pilot | 910 9T

2 Personal Cornputer (PC) | TE- THIZET ()
% % Laptop | 91T

4 % Mainframe | 59T

Question Number : 98 Question Id : 3354728228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The full form of PNG is: | PNG #Tqui &7 _______ 7l

Options:

1. ® Portal News Group | e w2

2. ¥ Portable Metwork Graphics | Tead e Tiked
3. % Portable Networking Group | Wiess HeaiaT qa

4. ¥ Polling Mews Group | TR == 77

Question Number : 99 Question Id : 3354728229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following function is used to join several String texts into One string text (in MS Excel)? | FrAmET

o & I AT b, (AT T H) T o1 S & % ol dopeqe 1 15 F-1 & 1ol SHaATe [T 7T 2]
Options:

1. % CONCATENATE
2 % CHAR

3. % PROPER

4, % EYACT

Question Number : 100 Question Id : 3354728230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following cormmand is used to move the selected text to a different location permanently? | gt

& & U T Al O Sede s cde ®1 0g w0+ F o0 gaiataT 8 & B w0z &7 sadaTe T e 27

Options:
1. % Move and Paste | ToF S 0T

2 ¥ Cut and Paste | & T 04
3. % Cut and Repeat | @¢ % iz
4 % Drag and Paste Special | 21 % 09T qUad
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